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Case	
  1	
  









What	
  is	
  the	
  arrhythmia?	
  

A.  Ventricular	
  tachycardia	
  
B.  AVNRT	
  
C.  Sinus	
  or	
  atrial	
  tachycardia	
  with	
  AV	
  tracking	
  
D.  Pacemaker	
  mediated	
  tachycardia	
  (PMT)	
  







But,	
  there	
  are	
  two	
  atrial	
  beats	
  that	
  
come	
  sooner.	
  Why?	
  

A.  Because	
  this	
  is	
  not	
  PMT	
  
B.  Because	
  they	
  are	
  PACs	
  
C.  The	
  marker	
  intervals	
  are	
  someJmes	
  

inaccurate	
  
D.  Other	
  







Why	
  are	
  these	
  atrial	
  beats	
  
“refractory”?	
  

A.  Ventricular	
  based	
  Jming	
  
B.  Something	
  else	
  
C.  Because	
  the	
  device	
  is	
  now	
  in	
  PVP	
  mode	
  
D.  All	
  of	
  the	
  above	
  



Case	
  2	
  







Why	
  is	
  the	
  A-­‐V	
  interval	
  different	
  
during	
  tachycardia?	
  

A.  Because	
  this	
  is	
  PMT	
  
B.  Because	
  this	
  is	
  an	
  example	
  of	
  upper	
  rate	
  

behaviour	
  
C.  Because	
  this	
  is	
  an	
  example	
  of	
  upper	
  rate	
  

behaviour	
  AND	
  PMT	
  





Case	
  3	
  









What	
  do	
  we	
  know	
  about	
  the	
  
mechanism	
  of	
  the	
  tachycardia?	
  

A.  that	
  this	
  is	
  sinus	
  or	
  atrial	
  tachycardia	
  
B.  that	
  this	
  is	
  avnrt	
  dependent	
  on	
  dual	
  av	
  nodal	
  

physiology	
  and	
  that	
  only	
  the	
  antegrade	
  limb	
  
is	
  vagally	
  sensiJve	
  

C.  only	
  that	
  this	
  is	
  avnrt	
  
D.  none	
  of	
  the	
  above	
  









What	
  else	
  did	
  you	
  noJce	
  about	
  the	
  
strip	
  aUer	
  the	
  vagal	
  maneuver?	
  







How	
  did	
  this	
  subsequent	
  PMT	
  
terminate?	
  

A.  Vagal	
  effect	
  
B.  PVARP	
  extension	
  
C.  PAC	
  
D.  atrial	
  pace	
  



Case	
  4	
  





What	
  most	
  likely	
  explains	
  the	
  early	
  
VS?	
  

A.  a	
  PVC	
  
B.  dual	
  AV	
  nodal	
  physiology	
  
C.  decremental	
  AV	
  conducJon	
  
D.  something	
  else	
  




